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xR % Il 10. 00| FH%f 350 3, 500 1,404 1,311 1,188
N ™ 5 10. 00| FH%f 376 3,760 3,024 2,616 972
H X £ IH 15. 00| FAXf 311 4,665 2,592 2,086 1, 685
X H D IS 12. 00| FH%f 673 8,076 1,404 1,222 11
1T NAEL £ JE 0. 20| FHx} 1, 140 228 97 92 65
R 200 4A%E| 47| 188 2,052 1,997| 1,620
H % e 3. 00| FH*} 161 483 1,512 1,308 864
H A [ 1. 00| B} 285 285 702 540 270
& )l | 500 fE%f| 4 70| 2,700] 1,689| 1,350
T moB 2. 00| tHx*} 163 326 1,199 987 648
LE L w5 4. 00| FHx} 208 832 2,160 1,797 1,296
= | 4.00] FERE | 304 1,216] 2,376| 1,909| 1,188
B IR w5 5. 00| fHxt 486 2,430| 2,376 1,790 1,296
EN R 5.00 48%F | 7] 35| 2,268 2,006 1,782
A7 k= | il 3. 00| FH*} 50 150| 2,700| 2,413| 2,160
SR Tk L 2. 00| FHx} 46 92| 3,024 2,327| 1,080
H 7% w5 5. 00| FH*} 265 1,325 2,106| 1,813| 1,080
£ A AbifEE 20. 00 | FH 5%} 198 3,960 3,996 2,335 1,620
& | 10.00| #EXF| 400 14,0000 2,624| 2,223 972
LA A It fE 10. 00| FH%f 1, 059 10,590 2,916| 2,343 1,512
P=—LF X & [ 4. 00| FHx} 555 2,220 3,240 1,909| 1,404
Ty al— w5 6. 00 | FHx} 147 882 3,564| 3,250 648
& )l | e.ookExf| 4 o4 | 3,780

+Lxon L= S 4. 00| FHx*} 3 12 3,024
AEHEE w5 0.10| fB%f | 3,100 310 162 99 54
ZDXH B 5t 0. 20| FHx} 1, 800 360 81 64 33
LU £ B 0. 20| FHx} 150 30 87 70 66
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HEA FOsk L 10. 00| FH%f 28 280 1,944| 1,801| 1,404
YRR | 10,00 FERF| i 50| | 0,462

LE 7 AU A | 17.00| AHx%t 7 119 7, 560
5 U H & 10. 00| FAxf 241 2,410 5,940 4,458 1, 080

Yata— H & 10. 00| FH%f 1 10 4,968
INF T 7 4 UE | 13.00| fHx%F 7 91 2,862 2,669 2,592
bEB O 2 0. 27| FH*} 1, 869 506 410 366 324
S & 0. 25| FH*} 6, 185 1, 550 486 382 216
MIHD Y £ I 0.25| FHxf | 2,321 585 378 278 140




